EARAROBEEIERT — 2 N— IBISH —F

2014528180 () 11EAEFIA

mﬂﬁ%—ﬂﬁ C1%& EEE R
[x&<£] 1 %:1,100,000 @ ~ 2 3#%&:330,000 M ~ 337%&:187,000 @ ~ 4 3% :143,000 @ ~ 5 3 :110,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 o|TRF=UY o4 5:;%;&: 1:(30).4 1-1-1-1 [ 39.9| — 1 479 %\ﬁéjﬁ (a#n)
QF-N B b—t ATy 2 | g@att 1270774
olgliy|mr>Fr39 i 5 5541{%[@2 (17:2)74) 8-8-5-3 [39.1| — 2 (4_817) mg%i“lmﬁ)
LBV ThI— B:T7—ENNFD INER =
3056 WN=THF> # o4 Sé;J%EA 1:(341).2 4-4-4-2 | 40.4| — | 3 | 471 ggﬁﬁz (haE)
RTAINTYT BALLUTAT 2 W) 25 vn
alzlg| r1vay=yos # 5 Zéfgﬁﬁi 1:(352).2 5565 |[41.1| — | 8 | 488 g%gﬁ (@)
Qi IAAO— BiAAU—S— F @) | A
sl7l10 YyarH-—u i 5 sﬂi_ﬂaﬁk 1:(322).6 11-11-9-8 | 40.5| — 10 | 404 iﬁiﬁ ()
QALNTYFIE BFATLE—H 12| emz asg
6 g| 7HrvH # o8 gigﬂsﬂéﬁﬁ (11:312/.29) 6-6-7-6 |41.4| — | 11 | 53 ’i‘ﬁii‘ )
. AR=
RXTHF4R BSTU—RA— b 42| Trmaig
7RY 3| ¥R T e 6 | FUaE 1380 2024 |@28| = | 6 | dse | AERR (EE)
L:€r/0704 BT Rx— (+5) &k ok
PRt S 44 | EEEMSHC 1:33.1 12-12-12-12| 40.2 | — 12 | 531 |JIB& (@)
8111 FoHv—o b 56.0 (3/4) 1) iEfth
R:o07% B:voUv—H-—-F> J—H Ty —L
° L — B4 | FEY 1:33.2 9-9-10-10 | 41.3| — 9 421 | EBIEE (B)
] 4| 7=7 54.0 (1/2) (1) |HEE— )
L:T7A—T4FAF =% B:7A-FNE1 L4 ILIL, YRETy—L
10lglial x 1 7wzns it 4 EEE%"? 1(73%2 7-7-8-9 | 41.9| — 5 457 ggia‘c (ats)
RGFRATLE— BAATINRATY LY ) s =g
11 YARRARRAYIZ= BN # o4 51%%%‘6 1:(364>.4 3-3-3-7 |43.7| — | 4 | 4o7 %?;I;E (I11e)
LTTU—b BRU—LFrys— | ey Lmss
1255/ —¥>nUF— £ 4 ggf%l‘lﬁ (11:314/.27) 10-10-11-11{ 42.6 | — 7 456 %git_ﬁ (J111e5)
L:d—I kMR- B:5TU—-~L © E R
® I —F—EBIERL
13—+— |2,3,7,6,9,8,12,11,4,5,10,1
2ol =3F= 2,3,7,6,9,8,12,11,4,5,10,1
83—7— [2,3,7,6,11,9,8,12,10,4,5,1
41—+ — 2,6,11,3,9,8,7,10,12,4,5,1
[ RN
B 2 180/ | [ 71 K 2-11 210/ | | # = 2-8 340M | | 3 | 2-6-11 5803
8 B 2 100 2-6 260 P B 2-8 580 JEH 2-11-6 1,820
1 130 6-11 340 B & 2-11 440/
6 130/ By 2-11 650M

ABICOVWTRDTEEERROODE. TR LIV,




